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FOREWORD

After every examination circle, The National Examinations Council of
Tanzania (NECTA) issues Reports on Candidates’ Item Response Analysis
(CIRA). This report analyses the responses of the candidates who sat for the
Geography examination in the Diploma in Secondary Education Examination
(DSEE) in 2023. The objective of this report is to provide feedback to
stakeholders in education. The report could also be a reflection of the extent to
which the instructional goals and objectives were achieved.

The DSEE may be one of the tools for evaluating the effectiveness and
efficiency of the education system at this level. It is also a good indicator of
how best the instruction was effective. The report presents the factors for good,
average and poor performance in individual questions and in each topic. The
analysis showed that the factors for good performance were: ability to
understand the requirements of the questions, mastery of the contents, having
well-developed writing skills and mastery of the English language which is
used as a language of instruction at diploma level. It was also found that the
major factors for poor performance were misinterpretation of the questions,
underdeveloped essay writing skills, insufficient knowledge of the assessed
content and the candidates’ inability to express themselves clearly in the
English language. It is hoped that the obstacles identified will be dealt with
during the teaching and learning processes.

NECTA believes that, the report will be helpful to both future candidates and
tutors in improving the quality of teaching and learning so as to improve
candidates’ performance.

Finally, NECTA wishes to express its sincere gratitude to all Examinations
Officers and stakeholders for their valuable contributions in the preparation of

this report.

Dr. Said A. Mohamed
EXECUTIVE SECRETARY
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1.0

2.0

INTRODUCTION

This report is an evaluation of the performance of the candidates who sat
for the Geography examination in the Diploma in Secondary Education
Examination (DSEE) in 2023. The Geography examination was
comprised of 14 questions, which were spread in two sections: A and B.
All the questions in the two sections were compulsory.

The report analyses the candidates’ performance in each question by
showing the requirements of the question and the strength and
weaknesses of their responses. Samples of the candidates’ responses are
used to illustrate their performance. The analysis -classifies the
performance into poor, average and good on the basis of the percentage
correctness in relation to the total marks allotted to each question. The
percentages ranges in each category are 0-39, 40-69 and 70-100. The
figures are presented in colours so that they reflect the three categories of
performances. Good performance is represented by the green colour,
average by the yellow colour and poor by the red colour.

The overall performance in the 2023 Geography examination was good,
since 403 (99.03%) out of the 411 candidates who sat the examination
passed. In comparison with the 2022 performance, there is no significant
difference because the 2023 performance is better only by 0.1 percent.

It is expected that the report will be useful to all education stakeholders
but particularly to tutors and student-teachers for improving the teaching
and learning of the Geography subject.

ANALYSIS OF THE CANDIDATES’ PERFORMANCES IN EACH
QUESTION

2.1 SECTION A: SHORT-ANSWER ITEMS

The section comprised of 10 compulsory questions based on academic
and pedagogical component of the syllabus. The candidates were
required to respond briefly to the questions. In this section, each item
carried four marks; thus, the section carried a total of 40 marks. For the
purposes of analysis, the candidates’ performance in each question is
categorised as good, average or poor depending on the scores they
attained. The range of scores for the above categories is 3—4, 2-2.5 and
0-1.5 respectively. A total of 411 candidates sat for the Geography
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examination. Hence, the percentages in each question are based on this
number.

2.1.1 Question 1: Human Occupations and Economic
Development

The question required the candidates to support the statement
that “the success of agricultural activities in the equatorial
region depends on the presence of soil water throughout the
year”. The question assessed candidates’ ability to analyse the
role of soil water in supporting agriculture in the region.

The candidates’ general performance in this question was
average, since 51.34 percent of the candidates got 2 to 4 marks.
Out of these candidates, 9.98 percent had average performance
(2.0-2.5) and 41.36 percent had good performance (3—4 marks).
The remaining 48.66 percent had poor performance scores
ranging from 0 to 1.5. Figure 1 shows the percentage of
candidates in each category.
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Figure 1: Percentages of candidates in each performance
category for question 1.



A further review of the candidates’ responses revealed that the
following functions of soil water was more frequently
presented: it helps germination of seeds, facilitates soil
decomposition, regulates temperature in the soil, helps in
transportation of nutrients in plants, helps micro-organism to
facilitate decomposition and formation of humus. These
responses indicate that the candidates had sufficient knowledge
of the role of soil water in supporting agricultural activities.
Extract 1.1 is a example of a correct response that one of the
candidates provided,

rT:/Jo'” water  hlp o mguloM ‘o Tfﬂ?m?
4ure v e o)

Mzdet] weder  Yeolp -eiuh'ng -HQ P\noftal\'/u“i
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Extract 1.1: An example of a correct response to question 1.

In extract 1.1 despite the grammatical mistakes made, the
candidate explained correctly the role of soil water in
supporting agricultural activities.

Moreover, 9.98 percent of the candidates had average
performance. This implies that they had moderate knowledge of
the role of soil water in supporting agricultural activities. These
candidates provided a few correct points. Others in this category



did not exhaust the points required by the question. Hence, they
got average marks.

By contrast, 48.66 percent of the candidates responded to the
question incorrectly. For example, one of the candidates
provided the  following  response  time,  climate,
topography/relief and parent rock. In this response, the
candidate outlined the factors for soil formation, instead of
explaining the role of soil water in supporting agricultural
activities. Other candidates provided the functions of
agricultural activities including: promote availability of foods,
provide development of market, development of industries and
improvement of infrastructure.

Other candidates wrote factors for the development of
agricultural activities, such as: availability of capital, skilled
labour, improved transport and communication, and
development of science and technology. These responses show
that some of the candidates misunderstood the question; Extract
1.2 is an illustration of the incorrect responses in question 1.

n Clarmtbenshres af Eqyater=d vegion,
E)Ewhm ol Hwougld e \(l}‘eﬂf,

0) Tnel, v lgne uster bodies whielr Sopen
e dugedstinter B Horpugubtig e,
110 fney havy %‘&\ Qe Wl% [awg V}'?te! VM’A
/thl d’bt'\”tt &AOP\{ w‘dﬂ MJ(&C(, ((mv-ej u)w'du.
W‘D\{Q( S‘ﬂadouw b the Sm‘( awp fmwdp' Fhing

bogs ot wiler,
L'V)rﬁ\-w ot izl {‘m\f#af‘w with i &
Wk evupordil, whili liad b tie dowatidy
o voundull.

Extract 1.2: An example of an incorrect response to
question 1.
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The candidate wrote the characteristics of equatorial climate,
instead of explaining the role of soil water in supporting
agricultural activities.

2.1.2 Question 2: Geomorphic Process

The question required the candidates to support by giving
examples, the statement that “different landforms seen today are
chiefly a result of two geomorphic processes”. The candidates
were expected to explain endogenic and exogenic processes,
which are responsible for the formation of different landforms.
The candidates’ general performance in this question was
average. The data show that 35.52 percent of the candidates had
poor performance (0—1.5 marks), 23.36 percent had average
performance (2.0-2.5 marks) and 41.12 percent had good
performance (3—4 marks) as illustrated in Figure 2.
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Figure 2: Percentages of candidates in each performance
category for question 2.

The candidates who had good scores (3 to 4 marks) mentioned
endogenic and exogenic processes. The candidates explained
that;



endogenic geomorphic processes are forces which occur within
the earth’s crust, such earthquakes and volcanism while
exogenic geomorphic processes occur on the earth’s crust,
which are observable such as denudation, transportation and
deposition of eroded materials by agents such as moving water,
moving wind and moving ice.

The candidates’ correct responses indicated that, the candidates
understood the question and had sufficient knowledge of the
internal and externa geomorphic processes that lead to the
formation of different kinds of landforms. Extract 2.1 is an
example of a correct response from one of the candidates.

“1)' Entinqerm(‘. qeomorpLJ. meQU( Aerua&
Pmcen) 'TLA ar \L\\A& x qe,owwv\ML qmcess
M ovem&c urtlin 3r\4 Q_cu)c\,\s Surmc_@
ol b t¥erndd woc,ess st it Mo
Sacliaueke a d wdlbantie ackiows Wibe %wwn&

oW ol \ro\Cuv.nL\q\:g_ \m\cwt W\-Oun&mv\ MA o'w-l'-‘
\

\\>‘27<o°\em\c. c\CQmonLL prpcell Ci&\ewd{
?mmn}, R, eyery Lo Mg ?)Qa'(w»c:?\mc proct
\ A 'y lucxace
amv\e ey My omce.sies 14 Srodon Wwea Pan
Y\q uo.\l\)JQi\\wq w& AQMA&&\O“ '-\ w@"'l 4!
1\ Xo «Mlm‘{ﬂ }fen&ure& ke pxbour \o\r_e
Gull, eke.

Extract 2.1: An example of a correct response to question 2

In Extract 2.1 the candidate has explained correctly the two
geomorphic processes and cited relevant examples of the
possible resulting features.

The candidates who had average performance (2 to 2.5 marks)
described endogenic geomorphic processes and exogenic
geomorphic processes but did not provide vivid examples,

6



others gave examples relating to processes of the same nature
by treating them as if they were different geomorphic processes.

However, the candidates who had poor performance (0 to 1.5
marks) lacked knowledge on the two geomorphic processes.
They were not proficient in the English language either. For
example, one candidate wrote about historical information,
most probably the candidate was distracted by the word
“chiefly.” which was included in the stem of the question. The
candidate wrote the following responses: how the land was
observed during the chief for example Isimila, the education
provides was provided before the chief the aspects that are
practiced have been provided by chief, the traditional are
provided by chief. These responses were not related to the two
geomorphic processes.

Another weakness noted was misinterpretation of the question
by some of the candidates. For example, instead of explaining
how the two processes occurs leading to the formation of
different landforms, they explained the economic importance of
different landforms. Extract 2.2 is an illustration of the incorrect
responses provided by one of the candidates.

d ) 1 ' 7

/;D\(m \Aa (:pl[pund aa00) Ca;;u(\ﬂ 7‘( 97'{)11 opﬂ //’l

Gﬂu Lol //) b;./fz (0 |M r(l.lw @.Qg @_ ﬁ lf’ae
LWn[n AAA

)I/A')‘t/uﬁ 7L.,_ (ing 2 Pheahs {'ﬂl /a,..‘ﬂném (o C,e
ﬁwm’ o ,ﬁ/mxnwn/a Lu”l ~t 0¥ IMJ Lige Toessns

MM? M’fiu /E?Ml I

n./,Cmm(o: 1 =00 ue [ m:z X, .,070 'ﬁimm/b

m 72 %) OJQ'II)AQI ¥
W//moww%wﬂ 2 W@MWAM
/@A..J)/p [nn’h A Mayur,vo

losed) Hersnc r/M Wd_gﬂm_,eéa_c_m.feﬂu_

Extract 2.2: An example of an incorrect response to
question 2
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As shown in Extract 2.2, the candidate explained the economic
importance of different landforms resulting from geomorphic
processes instead of explaining how the two geomorphic
processes contribute to the formation of different kinds of
landforms.

2.1.3 Question 3: Weather and Climate

In this question, the candidates were required to substantiate, by
giving four points the statement that “world climates differ
based on the latitude they are located in.” In attempting this
question, the candidates were required to have knowledge of
how world climates differ in relation to the relevant latitudes.
This question was one of the poorly done as 94.89 percent of
the candidates scored 0—1.5 marks out of the four marks which
had been allotted to the question. The data showed that, 4.87
percent of the candidates had average performance of 2-2.5
marks and that only 0.24 percent had good performance (3—4
marks) as shown in figure 3.
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Figure 3: Percentages of candidates in each performance
category for question 3



The review of the candidates’ responses revealed that the main
reason for the candidates’ poor performance was inadequate
knowledge of world climates. Their inadequate knowledge
made some of them leave the question unanswered and other
candidates provided incorrect responses. It was also found that
other candidates explained the impact of temperature and
human activities on climatic conditions, for example they
wrote: world climate differs due to temperature difference,
world climate differs due to difference human activities
practiced in the area and world climate differ due to difference
in sea level.

Other candidates explained the role of the elements of weather
such as temperature, humidity, pressure and precipitation. Yet

other, candidates wrote: altitude, relief, ocean current and
temperature. These responses were not related to the effect of
latitude on climate. Extract 3.1 is an example of an incorrect
response from one of the candidates.

‘ m 0 n\aﬂl
Mcu}&ﬁc\ o o \ona nw«M M
Wyl ahw\am 240" A\{a-w Mam&

oi’wj)ﬂm Yadong-

) Dichaats W §a

‘h Vet vadan F‘NV\W\M\

TN \ah by do o
S Ashhudg

Extract 3.1: An example of an incorrect response to
question 3

In Extract 3.1, the candidate explained the factors that affect the
climate of a place instead of explaining how latitude causes
differences in climate.



Analysis of the candidates with average performance indicates
that the candidates had a partial understanding of how world
climates differ in relation to the relevant latitudes. Most of them
repeated the points and expressed them in different words as if
they were different points. Others presented a mixture of correct
and incorrect responses that made them to attain average
performance.

Despite the candidates general poor performance in this
question, 0.24 percent of the candidates had good performance.
The candidates identified different kinds of climates based on
latitudes. However, the candidates generally had one weakness.
While they identified the general characteristics of each of the
climates and the latitudes they are found in, they could not
explain clearly the reason for the differences. They were
expected to show that the differences in climate are chiefly due
to differences in the distribution of temperature, which
decreases as one moves away from the equator. Extract 3.2 is
an example of correct responses that a candidate provided.

Clivele. 1s dJBe Ovormae. SF wedlor porkt]
v rtporded Bver O [ong fenaq” 8 fime
ﬁgewd/f\/ G@yi@wﬁ:‘-ao 2y ¢S

’ ehfm S
o/ i}uftféfaf /mafe. L) (/gL W J{fwﬁ‘
0f JRe Imex bf &slidt,
259 /‘/UPH“//J’“(/&”"L/ d’"’e‘t&‘%“‘ gte
8 "elmille Rt Beur hifuees §°4o
ISM/s b e |me OF e9uifor
‘i) O desect s s Jhe Jupe T
Chralte. Yot Gecor bllite, |&PROM) Tf
qhe (me, &f Cguter
vy Mfanm,w bfmnwfi. %4 u e ;VPO
Db lomife JOF Oecure beloen, 80 JoJocW s 342

Extract 3.2: An example of a correct response to question 3
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As shown in Extract 3.2, the candidate correctly identified four
kinds of climates. However, the candidates did not give the
reason for the differences, the differences in the intensity of
heat which occurs because of the differences in latitude from
the equator. This, however, did not affect the candidates’
performance.

2.1.4 Question 4: Human QOoccupations and Economic
Development

In this question, the candidates were required to suggest
solutions to the negative impact of the tourism industry in
Tanzania. The general performance in this question was average
because the majority of candidates (56.45 percent) scored 2 to 4
marks. Out of these, 46.23 percent had average marks (2.0-2.5
marks) while 10.22 scored good marks (3—4) out of the four
marks allotted to the question. The remaining 43.55 percent had
poor performance of 0— 1.5 marks. Figure 4 illustrates further
the percentages of the candidates in each category.

Scores
H(0.0-1.5
2.0-2.5
H3.0-4.0

46.23%

Figure 4: Percentages of candidates in each performance
category for question 4

Most of the candidates who performed poorly in this question
did not understand the question. Instead of giving solutions to
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the negative effects of the tourism industry in Tanzania, the
majority talked about the role of the industry. The majority of
them gave points like: provide employment opportunity, provide
foreign currency, leads to improvement of transport and
communication, improve the living standard of the people and
stimulate the development of other sectors in the economy.
These responses show that the candidates did not understand the
question.

Other candidate mentioned factors for the development of
tourism in Tanzania such as: formulation of good policy,
improvement of transport and communication, improvement of
good hotels and improvement of security. These responses
indicate that the candidates misunderstood the question. Extract
4.1 shows an example of an incorrect response from one of the
candidates.

h Tourism, ﬂg;:s [ The Mo

n(.uce_ Ol
)Lﬂeaﬁ s 715.. ﬁou(ﬂw!m Do Hwe
NL

o Hfjm T T,
)1 C 0 eodes TAR &
mL& - '
Townbm |
Gl 4 Coust fhe enwr\mme,ﬁ:.l ohfm&w-
== s {4 {Mx CDY‘MM

| fhum dstd-t Wmmm&%’ :
o It couse The. dufrdblog of cullw  Thas
1% %N  Whiat b W [2%ad (:M\-Q
__dtaded dhato ta

(W T couse Fhe. enronm

/CU‘": o pofdz MCDW

-

N

Extract 4.1: An example of an incorrect response to question 4.

As shown in Extract 4.1 the candidate explained the impact of
the tourism industry on Tanzania instead of providing solutions

12



to the negative effect of the tourism industry on Tanzania. The
candidate also misspelt some of the words.

By contrast, the candidates with average performance provided
clearly at least two out of the four points required. This enabled
them to score two marks out of the four marks. It is clear that
the candidates in this category understood the question but
could not provide all four points.

Despite average performance by 46.23 percent of the
candidates, 10.22 percent provided solutions which can be used
to deal with the negative effects of the tourism industry. The
candidates provided solutions such as:

Development of eco-tourism which leads to environmental
conservation, involve tourist coming to Tanzania in
environmental conservation, construction of more attraction
site in order to avoid tourist congestion, preserving their
culture and avoid imitating new culture. These responses
indicate that the candidates understood the question and had
adequate knowledge of the subject matter. Extract 4.2 shows an
example of a good response from one of the candidates.

ﬁjd”#ou aﬂDAﬁ,L 40 Peloms  awccciated  with Toun'im ;,,,'m

liice Envf'vummwup Pojlubon = Mord detay  Tramsmttor of o/

fi0d_acd Termeiom . '

= The . Slubsiz o0 L ﬂ‘fd ae

'(,, ”’W qover ment ,Haaulc[“ 0ood [awe (on(pmzr fo  Conlervedley
o Covinimont ol g g phis o Perce
Gﬂ'r\n.‘mn% ! v

1) Education_abod th (ppr Jhod Poild o ar o Pege i
0 Ledebes & o P Ao fo Alen be W or Uk
A Gonlom X

W /[0 Yeveimnt P Pt more  [econty o v P anf
T emg-am - 4

Y, Tttt af  Praet  ov  tudwe |, P”Cw’ﬂil:_’s [wditiond
Qutie P ho  u man,yef e Trotionad damas

Extract 4:2: An example of good response to question 4.
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In extract 4.2, the candiate provided solutions to the negative
effects of tourism industry.

2.1.5 Question 5: Geography Discipline

In this question, the candidates were required to oppose the
statement that, “studying Geography is irrelevant.” The
analysed data show that the candidates’ performance in this
question was good as the majority of them (69.10%) had good
performance (3—4 marks). The data also show that 17.76
percent of the candidates had average performance (2.0-2.5
marks) and that 13.14 percent had poor performance (0-2.5
marks), as indicated in Figure 5.
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Figure 5: Percentages of candidates in each performance
category for question 5

The candidates with good performance opposed the statement
by explaining the relevancy of studying Geography. The
candidates explained things such: Studying geography enables
people to face various problems like floods, earthquakes, gives
knowledge on how to manage our environment, helps to know
various natural resources, geography helps the agriculturalists
to the nature of the soil and climate and crops grown in that
area. These responses indicated that, the candidates not only
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know the importance of studying the subject but also
understood the question as shown in Extract 5.1

BER U Geoqepyy 3 Wlod do quin bl bowdedee
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~ 7 - "y
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oo £oL0cac o0 10 a At Aol * wad)
s MR \QN\A deda -

T\,‘/ GQO(}MQ\W U o o boow Ao drgrond
laod iy 0 4 ooty swlee \ka (£ ualy
Credocs - ‘

Y Gowgagy 3 VWt bow %o @lalubp
with oot counhor aod  also L \now
Ao ocdue)  comuar.

Extract 5.1: An example of a correct response to question 5.

As shown in Extract 5.1, the candidate explained correctly the
importance of studying Geography.

On the contrary, 18.20 percent of the candidates with average
performance had partial knowledge of the subject matter. The
majority of the candidates in this category repeated the same
points and presented them as if they were different points.
Others gave a mixture of correct and incorrect responses, which
caused them to attain average performance.

Analysis of the candidates’ responses with poor performance
shows that, the major reason for this performance is
misinterpretation of the question. For example, in responding to
this question, one candidate wrote: it led to environmental
degradation, causes pollution, causes soil erosion and
overgrazing. Another candidate wrote: disturbance of
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ecosystem, rise and fall of the sea level, eruption of diseases
such as skin cancer, migration of people. Extract 5.2 shows an
example of an incorrect response from one of the candidate.

mﬂﬂ*‘% J H*J‘/ gecd (ap l'l/\/‘ do_nof meﬂ-a(‘hmcp
themgelve and aplee’ ‘),w'o?( TF e wold

ﬂ '—Tt‘ﬁvl 4(/!] gpe ﬁl/,;]‘}q A/ (1(,\ fLGl:{’ Q((?L,‘,-,\_p

i c}’ﬁ}wn ~ 9

/

1] fﬁwaqL [fun’&//m Jmmzi.,a[u/ Av n,df‘ JA/V'/M
the df{mma J Qmé(jn 4;? Tk 6CCour
(mﬂ:ﬂ- L«JO%’J v

il et T g
Oerene¥ of vncliiittond = B ~recowyy |k
MNieal alto Lond-

Extract 5.2: An example of incorrect response to question 5.

As shown in extract 5.2 the candidate opposed the importance
of studying Geography. This was most likely caused by the lack
of mastery of the English language.

2.1.6  Question 6: Pprinciples of Teaching and Learning
Geography

In this question, the candidates were required to elaborate on the
benefits of classroom observation as an assessment strategy in
Geography. The data show that the performance in this question
was poor as the majority (61.56%) had poor performance (0-1.5
marks). Furthermore, analysis of the data shows that 18.25
percent of the candidates had average performance (2.0-2.5
marks) and that 20.19 percent had good performance (3—4
marks). Figure 6 illustrates more the percentages of candidates
in each performance category.
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Figure 6: Percentages of candidates in each category of
performance in question 6

The candidates with poor performance had limited knowledge
of observation as an assessment technique. The candidates in
this category concentrated more on the benefit of the inquiry
technique than on the benefits of observation as assessment
technique. For example, in responding to the question, one of
the candidates wrote:

1t leads to classroom interaction between teacher and learners,
it leads to classroom attention with the subject, it increase
memorization among learners and helps to avoid boredom in
the classroom Another wrote it create long term memory to
learners, it create motivation to learners, it refreshes or
entertains the learners and develops thinking capacity. These
kinds of response show that the candidates misunderstood the
question. Extract 6.1 shows an incorrect response.

\ L!i \MpTOVe (u[-x‘ch —{:(,\m&\nq
“\} L rodl qoazj mouztf’-?on ln’“ﬁl \mumr
T O
W Ll L0 proue mobuabion &n'\(‘: \ooingr
.l\)\7\ |fr\(‘1muq fnmppjw‘-ni\ amonql D'H&( 50&!4}‘0.(‘}'

Extract: 6.1: An example of an incorrect response to question 6
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As shown in Extract 6.1, the candidate explained the benefit of
enquiry in teaching and studying Geography instead of
explaining the benefits of the observation technique.

The candidates with good performance understood the question.
The majority of the candidates in this category explained
correctly four benefits of observation as an assessment
technique. For example, one candidate wrote: Observation
provides real information, avoid bias, it saves time if used
effectively, it is very cheap. Another candidate wrote:
Observation enables to observe behaviour of each student,
helps the teacher to know the learning difficult to his/her
students during teaching and learning, also enables the teacher
to know and predict different methods to the students with
special needs. These responses indicate that the candidates
understood the question and had adequate knowledge of the
benefit of observation as an assessment technique. Extract 6.2 is
an example of a good response from one of the candidate.
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Extract 6.2: An example of a good response to question 6.
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Extract 6.1 shows that the candidate elaborated the correct
benefits of classroom observation technique.

Further analysis indicate that 18.20 percent of the candidates
had average performance (2.0-2.5 marks). This performance
was attributed to the candidates’ insufficient knowledge of
observation and as an assessment technique. Most of the
candidates in this category provided few correct responses.

2.1.7 Question 7: Energy Resources

The question was about the following scenario: An expert in
environmental conservation visited Kagororo village. In his
speech to the villagers he noted that “the overuse of fuel wood
by the villagers is like digging their own graves.” The
candidates were required to support what the expert said using
four points. Specifically, the candidates were required to
explain the consequences of overuse of fuel wood. The analysed
data show that 49.10 percent of the candidates had average
performance (2-2.5 marks); 32.1 percent had poor performance
(0-1.5 marks) and 18.70 percent had good performance (3—4
marks) as illustrated in Figure 7.
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Figure 7: Percentages of candidates in each performance
category for question 7.
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Review of the responses given by candidates with average
performance revealed that the main reason for this performance
was the candidates’ inadequate knowledge of the subject matter.
The candidates provided only a few correct responses. Others
identified the consequences of overuse of fuel wood but did not
connect with the effects the villagers would suffer from such
behaviour.

Similarly, the review of some of the responses of candidates
with weak scores revealed that, the candidates misunderstood
the question. For example, one candidate wrote: over use of
fuelwood provide employment, very cheap to use, help machine
to work, help people to improve the living standard. The
candidate argued in support of overuse of fuel wood instead of
presenting the consequences of such overuse. Other candidates
in this category wrote the characteristics of fuel wood such as,
fuel wood is less expensive, fuel wood can produce pollution,
easy and affordable and fuel wood does not need skills. Yet a
candidate explained possible ways of avoiding overuse of fuel
wood contrary to the requirement of the question. The candidate
wrote: through encouraging others on the uses of alternative
source of energy like solar power and gas, educating the
community about the impact of overuse of fuel power,
establishment and enforcement of law and formulating suitable
and workable policy on the over use of fuel wood. Extract 7.1
illustrates this further.
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Extract 7.1: An example of an incorrect response to question 7

As shown in extract 7.1 the candidate provided the way to
minimise overuse of fuel wood instead of explaining the
consequences of overuse of fuel wood.

Although the majority of candidates had average and weak
performance, 18.70 percent of the candidates had good
performance. The responses of the candidates in this category
show that the candidates understood the question and were
knowledgeable about the subject matter. For example, in
responding to the question one wrote: overuse of fuel wood lead
to deforestation, air pollution, loss of biodiversity and
increasing of global warming. Another candidate wrote:
overuse of fuelwood can lead to climatic change like increasing
of temperature on the earth surface, formation of desert
because of clearing of vegetation cover and loss of biodiversity.
These responses indicate that the candidates understood the
question and had adequate knowledge of consequences of
overuse of fuelwood. Extract 7.2 an example of a correct
response from one of the candidates.
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Extract 7. 2: An example of a correct response to question 7

As shown in extract 7.1 the candidate explained correctly the
consequences of overuse of fuel wood.

2.1.8 Question 8: Preparation for Teaching and Learning
Geography.

The question required the candidates to present four key
preparations that precede the actual teaching. The analysed data
show that the candidates’ performance in this question was
average. The data show that, 56.70 percent of the candidates
had poor performance (0—1.5 marks), 25.30 percent had average
performance (2.0-2.5 marks) and 18.00 percent had good
performance (3—4 marks). Figure 8 illustrates further the
percentage of candidates in each category.
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Figure 8: Percentages of candidates in each performance
category for question 8

The review of the responses of the candidates who got low
marks reveals that most of the candidates had insufficient
knowledge of the subject matter. The majority of them were
unaware of the key preparations preceding the actual teaching.

Some of the candidates provided incorrect answers such as: to
develop confidence before actual teaching, make practice for
what planned to teach, prepare specific objectives which can be
achieved and successfully for a certain time, to prepare content
which is relevant to learners so as to understand well. Other
candidates wrote: greeting the students, introduce the topic,
start elaboration the topic and make conclusion. Yet others,
candidates wrote: define the term Geography, list branches of
Geography, importance of Geography and relate Geography
with other subject. Others wrote, preparation of the topic,
prepare task given to the students, to ask permission to the head
of school to teach single lesson and time availability to be
prepared for teaching. Yet others wrote: select subject matter,
make assessment, make reflection and make conclusion. Other
wrote: introduction, main body, reference and conclusion.
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These responses indicate that the candidate misunderstood the
question as Extract 8.1 illustrate.
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Extract 8:1: An example of an incorrect response for question
8

As shown in extract 8.1candidade explained the factors to
consider when one is selecting the teaching methods or
technique instead explaining the key factors to consider prior to
the actual teaching.

Analysis of the responses of the candidates with average
performance indicated that the candidates had a partial
understanding of the key factors. Only a few were correct.

Review of the responses of the candidates with good
performance shows that the candidate understood the question
and that they had sufficient knowledge. Such candidates
explained correctly the key preparations in question. For
example, they wrote: preparation of scheme of work,
preparation of lesson plan, preparation of lesson notes and
preparation of teaching and learning aids. Extract 8.2 shows an
example of a correct response from one of the candidates.
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Extract 8. 2: An example of a correct response to question 8

As shown in extract 8.2, the candidate presented accurately the
key preparations that a teacher needs to consider prior to
teaching Geography.

2.1.9 Question 9: Map Reading and Photograph
Interpretation.

This question required the candidates to differentiate ground
photographs from vertical photographs. In responding to the
question, the candidates were expected to identify the major
characteristics of each type of photograph so that they could
explain the differences. The candidates’ general performance
was poor. Most of the candidates found the question difficult.
The data show that 88.32 percent of the candidates had poor
performance (0-1.5 marks), 10.22 percent had average
performance (2-2.5 marks) and 1.46 percent had good
performance (3—4 marks). The performance of the candidates in
each category is illustrated in Figure 9.
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Figure 9: Percentages of candidates in each performance
category for question 9

The review of the responses of candidates with poor
performance shows that, most of the candidates in this category
attempted to describe the characteristics of photographs rather
than describing their differences. For example, one of the
candidates wrote: It shows things clearly, it shows the fore,
middle and background, it is very cheap to produce needs low
technology to produce. Another candidate wrote about the
consideration to be taken when one is using a photograph as a
teaching resource. The candidate wrote: availability of
resources, nature of the content, to use local materials, age of
the learners. These responses indicate that, the candidates
misinterpreted the question. They also imply that the candidates
lacked adequate knowledge of photographs. Extract 9.1 is an
example of an incorrect response from one of the candidates.
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Extract 9.1: An example of an incorrect response to
question 9

In extract 9.1, the candidate explained the techniques of taking a
photograph instead of the criteria used in differentiating ground
photographs from vertical photographs.

Further review of the candidates’ responses shows that the
major weakness in the responses of the candidates with average
performance was mixing some of the differences with the
strengths of photographs. Others candidates explained the
techniques of photographs interpretation, instead of
differentiating the two types of photographs.

The candidates with good performance correctly differentiated
the wvertical photographs from horizontal photographs by
considering criteria, such as: manner in which the photographs
taken, nature of the resulting photographs, size of objects on the
photographs, size of the photography area and nature of the
general view. Extract 9.2 is an example of a correct response
from one of the candidates.
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Extract 9.2: An example of a correct response to question 9

In extract 9.2, the candidate explained correctly the differences
between ground photograph and vertical photographs despite
the grammatical mistakes the candidate made.

2.1.10 Question 10: Survey.

In this question, the candidates were required to assist the
teacher in fulfilling his/her intention of understanding geodetic
surveying, topographic surveying, engineering surveying, and
cadastral surveying. Basically, the candidates were expected to
write the major features of each branch of survey. The analysed
data show that the question was one of the difficult questions to
most of the candidates. The majority of the candidates
(88.81%f) had poor performance (0—1.5 marks), 8.52 percent
had average performance (2.0-2.5 marks) and 2.68 percent had
good performance (3—4 marks) as illustrated in Figure 10.
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Figure 10: Percentages of candidates in each performance
category for question 10.

The candidates who performed poorly had insufficient
knowledge on the relevant concepts. Similarly, the responses of
some of the candidates indicate that the candidates
misinterpreted the question. For example, one candidate wrote:
help to determine the angle on the ground, help to determine
height on the ground, help to determine area of plot in the
ground, and help to determine distance on the point of the map.
These responses indicate that the candidate was trying to
explain the functions of survey, instead of explaining what these
branches of survey are. Other candidates presented teaching and
learning techniques such as: the use of teaching aids,
storytelling, the use of prior knowledge, doing project work,
having field trip for learning, encourage library search and
doing practical work. This misinterpretation of the question
generally caused most of the candidates to perform poorly.
Extract 10.2 is an example of an incorrect response from one of
the candidates.
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Extract 10.2: An example of incorrect response to question 10

Extract 10.2 shows that the candidate explained procedures for
conducting a survey, instead of explaining the branches of
survey

The analysis of the responses of candidates with average
performance reveals that the main reason for this average
performance is that the candidates had moderate knowledge of
the branches of survey. The candidates provided at least two of
the concepts correctly and gave unclear explanation about the
concepts.

The candidates with good performance explained the four
branches of survey sufficiently. For example, one of the
candidates responded by writing the following: Geodetic survey
is a branch of survey which deals with the study of the earth
coverture, topographic survey is a branch of survey which
deals with the study of physical features and manmade features;
engineering survey this is a branch of survey which deals with
the study of construction, for example building and road, while
cadestral survey is a branch of survey which deals with the
study of measurement of boundaries such as district, villages.
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Extract 10.2 shows a correct response from one of the
candidates.
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Extract. 10:2: An example of a correct response to question 10.

As shown in extract 10.2 the candidate explained correctly the
four branches of survey.

SECTION B: ESSAY QUESTIONS

This section comprised of four essay questions based on the
academic and pedagogical components of the syllabus. Each
question in this section carried 15 marks; therefore, the section
carried a total of 60 marks.

2.2.1 Question 11: Physical Resources

In this question, the candidates were required to provide five
points to support the following statement: “Although the
African continent has great potentials for hydroelectric power
production, the exploitation of such potentials to the maximum
is still a challenge.”
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The analysed data show that the candidates’ general
performance in this question was good. As shown in figure 11,
the candidates’ performance is skewed towards higher marks.
The figure shows that 60.10 percent of the candidates had good
performance (10.5-15 marks). The data also show 34.79
percent of the candidates with average performance (6.0—10
marks) and that fewer candidates (5.11%) had poor performance
(0-5.5 marks). Further illustration is provided in Figure 11.
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Figure 11: Percentages of candidates in each performance
category for question 11

The responses of the candidates who had good performance
(10.5-15 marks) were reviewed to determine their strengths.
The findings indicate that the candidates were aware of the
challenges hindering the exploitation of the potential of
hydroelectric power. The candidates had good writing skills and
had enough knowledge and understood the question. In
responding to the question, they provided the following points:
Lack of capital/funds, shortage of skilled labour, season
fluctuation in volume of rivers, climate change and poor local
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market for electric power due to low industrialization. Extract
11.1 is an example of a correct response from one of the
candidates.
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Extract 11.1: An example of a correct response to question 11

As shown in Extract 11.1, despite making grammatical
mistakes, the candidate pointed out correctly the challenges that
most African countries face in exploiting the hydroelectric
power potential.

The review of the responses of the candidates with average
performance (6-10 marks) revealed that the candidates lacked
adequate knowledge of the subject matter and essay writing
skills. The majority did not introduce well their essays and their
conclusions were not in tune with the points they gave. In
addition, some of the candidates repeated some of points in
different words. This resulted in their having average
performance.

The responses of the candidates with poor performance (0-5.5
marks) were also reviewed to determine the reasons for such
performance. The review showed that they misunderstood the
question. For example, in responding to the question, one of the
candidates provided the following points: keep large number of
animals, practice of human activities, and destruction of
industries, destruction of properties and damage of agriculture
activities. Looking at the phrases which the candidate used, one
could not establish the line of the candidate’s argument. Others
presented the importance of hydroelectric power station, for
example: provision of employment, helping the development
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industries, acting as sources of water supply and using the
produced power for domestic purposes. These kinds of
responses show that they misunderstood the question. Other
candidates also provided incorrect responses, such as: reduce
fishing industry, increases of different diseases, lead to
destruction of our culture, lead to increase debt to African
continent. Generally, the responses that the candidates provided,
exhibited lack of knowledge of the subject matter. Extract 11.2
is an example of response from one of the candidates who had
poor performance.
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Extract: 11.2: An example of an incorrect response to
question 11

As shown in extract 11.2 the candidate explained the impact of
the exploitation of hydroelectric power, instead explaining the
challenges facing the African continent in exploiting the
potential of hydroelectric power.

2.2.2 Question: 12. Physical Resources

In this question, the candidates were required to comment on
the contribution of river basins to economic development using
the Kilombero river basin as an example. The candidates’
general performance in this question was good. Data analysis
shows that 99.27 percent of the candidates had good
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performance (6.0-15 marks). Out of these candidates, 90.51
percent scored 10.5-15 marks and 8.76 percent had average
performance (6-10 marks). It also shows that, only 0.27 percent
of the candidates had poor performance (0—5.5 marks). Figure
12 illustrates the percentages of candidates in each performance
category.

0.73%

Scores
H(.0-5.5

6.0-10.0
®10.5-15.0

Figure 12: Percentages of candidates in each performance
category for question 12

The candidates who got 10.5 to 15 marks provided responses
relevant to the question. Furthermore, the candidates had
adequate knowledge on the economic significance of river
basins. The variation of their scores was result was caused by
variation in the strength of the points they provided. For
example, in responding to this question, one of the candidate in
this category included points such as: river basin acts as source
of tourist attraction, provides employment opportunity, helps in
generation of hydroelectric power, promotes fishing activities
and enhances transport and communication. Extract 12.1 is an
example of a correct response from one of the candidates.
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Extract 12.1: An example of a correct response to question 12

As shown in extract 12.1 the candidate talked about the
contribution of river basins to economic development using the
Kilombero river basin as an example.

The candidates’ with average performance (6-10 marks) had a
partial knowledge of the economic significance of river basin in
Tanzania. Their responses had several weaknesses. For
example, some of them provided partial explanations without
citing any examples particularly in relation to the Kilombero
river basin. Others provided a mixture of correct and incorrect
points. Others provided fewer points than required. The degree
of correctness, clarity and coherence of the responses differed
among candidates. Thus, their scores also varied.
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However, a few candidates (0.70%) got less than 6.0 marks.
Such candidates had insufficient knowledge of the contribution
of river basins to economic development and inadequate writing
skills, and some of them did not understand the question.
Extract 12.2 is an example of an incorrect response.
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Extract 12.2: An example of an incorrect response in
question 12.
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As shown in extract 12.2, the candidate explained the potential
of river basins by including incorrect responses such as the
basins being the source of timber and mineral deposits.

2.2.3 Question 13: Preparation for Teaching and Learning
Geography.

In this question, the candidates were required to support by
giving five points the statement that “good lesson planning
brings effectiveness to the teaching and learning processes.”
The analysed data show that, the candidates’ general
performance in this question was good. As illustrated in figure
13, the performance is skew towards higher scores. The data
showed that 52.80 percent of the candidates had good
performance (10.5-15 marks); 40.15 percent had average
performance (6.0-10 marks) and 7.06 percent had poor
performance (0-5.5 marks) as illustrated in figure 13.
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Figure 13: Percentages of candidates in each performance
category for question 13

The responses of the candidates who had good performance
(10.5-15 marks) indicated that the candidates had adequate
knowledge of the importance of lesson planning to effective
teaching. They also had sufficient writing skills which enabled
them to organise their essays. They also understood the
question. In responding to the question, most of the candidates
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provided points such as: Good lesson planning helps the

teacher to provide an organized content, help in selection of

good

teaching and learning strategies, helps the teacher to

develop appropriate teaching and learning activities and helps
the teacher to make evaluation. Extract 13.1 is an example of a
good response from one of the candidates.
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Extract 13.1: An example of a response of a correct
response in question 13
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The majority of the candidates who had average performance
understood the question. However, they had insufficient
knowledge of the importance of lesson planning to facilitate
effective teaching and learning. Due to this deficiency, they
could not explain satisfactorily the importance of lesson
planning to effective teaching. Some of the candidates in this
category outlined the points without giving sufficient
explanations as well. Others provided fewer points and others
repeated the same points in different words.

Moreover, samples of the responses of candidates with poor
performance reveal that most of the candidates in this category
had insufficient knowledge of the impact of lesson planning on
effectiveness in teaching and learning, Thus, they did not
answer the question satisfactorily. In addition, the candidates
did not adhere to essay writing principles and were not good at
English. This led to unclear presentation of ideas, which caused
them to have poor performance.

Other candidates’ failure to understand the question caused
them to provide incorrect responses. While some of the
candidate elaborated on the planning process, others explained
the stages in lesson development. Extract 13.2. is an example of
an incorrect response.
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Extract: 13.2: An example of an incorrect response to

question 13
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As shown in extract 13.2, candidates explained stages in
developing a good lesson plan, instead of explaining the
importance of good lesson planning to teaching and learning.

2.2.4 Question 14: Weather and Climate

This question required the candidates to examine five factors
that should be considered when one is preparing a place for
establishing a weather station. The analysed data show that the
candidates’ general performance was average. As illustrated in
Figure 14, the performance is almost evenly distributed. The
data show that 32.36 percent had good performance (10.5-15
marks); 36.98 percent had average performance (6.0—10 marks)
and 30.66 percent had poor performance (0-5.5 marks) as
illustrated in Figure 14.
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Figure 14: Percentages of candidates in each performance
category for question 14

Samples of the responses of the candidates who had good
performance show that the candidates in this category had
adequate knowledge the factors in question. Most of these
candidates understood the question and demonstrated that they
have good essay writing skills by providing an appropriate
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introduction, a main body and a conclusion. However, some of
the candidates could not give all the points required and others
could not elaborate on some of the points sufficiently. This
accounted for the variations of their scores. These candidates
explained factors such as: the area being fenced, the area being
free from tree/open, the area having gentle slope, the wide view
of the surrounding land scape and sky. Extract 14.1 is an
example of a correct responses from one of the candidates.
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Extract 14.1: An example of a correct response to question 14

As shown in the Extract 14.1 candidate explained the factors
that should be considered when one is in the process of
establishing a weather station, despite the grammatical mistakes
made.

By contrast the review of the responses of the candidates who
had average performance shows that the candidates had partial
knowledge of the relevant factors. Some of the candidates
provided an appropriate introduction and conclusion. They also
provided relevant points although they could not clarify them
adequately. Further analysis shows that some of the candidates
outlined the points without any explanations. Thus, such
candidates to got low marks.

Furthermore, the responses of the candidates who had poor
performance show that one of the reasons for this performance
was inadequate knowledge of the subject matter. The second
reason was the failure to understand the question. For example,
one of the candidates, in responding to the question provided
element of weather by giving points like: must have humidity,
availability of temperature, presence of cloud cover, and must
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have equipment. Other candidates provided factors that affect
temperature, instead of explaining the factors. other candidates
provided incorrect responses such as: nature of the soil,
population structure, nature of the rock, and history of the
place. Yet other candidates wrote: availability of capital,
availability of skilled labour, good government support,
availability of hydroelectric power, availability of science and
technology. Similarly, some candidates explained the
instruments needed at a weather station such as: presence of
thermometer, presence of hygrometer, presence of rain gauge,
presence of wind vane and the presence of anemometer. These
kinds of responses indicate that the candidate misunderstood the
question as illustrated further in extract 14.2.
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Extract: 14.2: An example of an incorrect response to

question 14

CANDIDATES’ PERFORMANCE IN EACH TOPIC

The questions based on the same topics were analysed to determine the
candidates’ performance in each topic. The analysis showed that, out of
the 11 topics covered in the examination, the candidates’ performance
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was good in four topics, average in three topics and poor in four topics.
The performance was good in the topics of Geography Discipline
(86.86%), Geography ‘Teaching and Learning Support Resources
(81.14%), Human Occupation and Economic Development (77.86%).
and Physical Resources (73.11%). The performance was average in the
topics of Energy resources (67.88%), Geomorphic Processes (64.48%)
and Principles of Teaching and Learning Geography (43.31%).
Moreover, the performance was poor in four topics, namely Assessment
in Geography (38.44%), Map Reading, and Photograph Interpretation
(11.68%), Surveying (11.19%) and Weather and Climate (5.11%).

Compared to the 2022 candidates’ performance in different topics, this
year’s performance has improved from average to good in three. The
topics include Geography Teaching and Learning Support Resources,
Human Occupation and Economic Development and Physical
Resources. Contrary, it declined in two topics namely Principles of
Teaching and Learning Geography and Assessment in Geography from
good to average and dropped from average to poor.

A comparison of candidates’ performance in 2022 and 2023 depicted
that there was no significant difference in the two year. The pass rate in
the 2022 Geography examination was 99.02 percent while that of 2023
was 99.03 percent. This similarity is attributed to the fact that, while the
number of topics with good performance decreased from five in 2022 to
four in 2023, the number of topics with average performance decreased
from four in 2022 to three topics in 2023. It was also noted that like the
2022 candidates, the 2023 candidates had poor performance in three
topics. Performance improved from poor to average in one topic and
decreased from average to poor in in one topic. In addition,
performance remained poor for two consecutive years on the topic: Map
Reading and Photograph Interpretation. The fluctuations just described
the general performance remain more or less the same

CONCLUSION

The candidates’ performance in the Geography examination indicated
that 99.03 percent of the candidate passed. There is no significant
difference in their performance and that of their 2022 counterparts.
Some of the shortcomings, which caused candidates perform poorly in
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some of the questions, is misinterpretation of the questions, insufficient
knowledge of the topics covered in the examination, bad English and
underdeveloped essay writing skills. These shortcomings need to be
dealt with by both the prospective candidates and tutors so that the
performance is improved and particularly in the topics: Map Reading
and Photograph Interpretation, Survey, and Weather and Climate in
which the performance was poor.

RECOMMENDATIONS

In order to improve performance in future especially in the three poorly
performed the following are recommended:

(a) Tutors should provide practical assignments to student - teachers
(individually and in groups) in teaching the topics in question. In
order to help student - teachers to understand their shortcomings in
learning, tutors should provide immediate feedback to student -
teachers. Feedback will help student - teachers to improve their
learning styles.

(b) Tutors should use the actual environment, textural materials and
pictures to make student - teachers connect the topics they study in
the classroom with reality.

(¢c) Tutors should use different teaching and learning strategies such as
brainstorming, library research, discussion, internet surfing so that
student - teachers understand the multidisciplinary nature of
Geography.

(d) Student - teachers should be engaged in using the principles
followed in developing good assessment tools and assessment
strategies so that they have a practical experience in developing
and using the strategies. This will help to improve candidates’
performance in the topic: Assessment in Geography.
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